Ratio to ATLAS

2.5

1.5

0.5

[EEY

0.5

P, (leading track) [GeV]

7000 GeV pp Underlying Event
L I L B N B BN B B o )
- 18

Average P, VSPp_ (TRNS) (In| < 2.5, P> 0.5 GeV) >
B =
~  m ATLAS e
— --3-- Herwig 7.0.1 default B
— —a— Pythia 8.108.p1 default =
- ¢ Sherpa 2.1.1 default _02'
i jE
— -
B i)
™
— — <
o™
— —©
o
I — 1M
—
n —=
X
B 1.8
| —
(&)
- E
(0]
— —
)
- 75
- | o
(&)
— | | | | | | | | | | | | | | | | | . |_ E
: T T T | T T T T | T T T T | T T T T |:
— =2
ST Ak 5 1
”””“‘”” 4 ¢ ¢ & & L SEEET o ¢

| —0.5

" " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 S 10 15 20



	Contents
	Page 1


